CLASS : 10th (Secondary) Code No. 2113
Series : Sec/Annual Exam.-2025

Roll No. SET : A
Te fae=

HOME SCIENCE
(Academic/Open)
[ = T il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 21 g2 ] [ g% : 60

Time allowed : 2% hours | [ Maximum Marks : 60

o FUT FT BT FF 57 F9T-79 § GRT 7 16 79 797 31 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 31 questions.

o Jo7-7H ¥ e & @ G T T FS TH Fol f H OH FI-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y FIT P TV VG @ FWT G Yee, FIT F HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.
o G-kl % & @] /971 7 8I8)

Don’t leave blank page/pages in your answer-book.

2113/(Set : A) P.T.O.



(2) 2113/(Set : A)
o FTT-GRam & FRFT FF T A T& A g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-TH qT Haed [i@ Wl To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @GRl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % IUT 37 @ {4 & GEAlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g 4 qrar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 73
General Instructions :
(i) 3 F97-97 & 7 31 797 & [o7= ¢ @] - O, ‘T, G T T ey 78
This question-paper consist of 31 questions, which are divided into four

Sections : 'A’, 'B', 'C' & 'D'".

2113/(Set : A)



(3) 2113/(Set : A)
() @ 9T Sar &

All questions are compulsory.
(iii) @UE-9 ¥ Fo7 @& 1 @ 15 % JGITo F97 &1 [RAMFAN 57 Jo7 % FaT o
J% 797 1 9% @ 81

Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer

these questions as per instructions. Each question carries 1 mark.
(iv) @U&-§ 7 797 &9 16 & 22 7% Sy FaNT 597 81 Jedew 997 2 SHl % 8l

Section-B consist of Question Nos. 16 to 22 Very Short Answer Type

Questions. Each question carries 2 marks.

(v) GUB-T T Jo7 G 23 T 29 TF T FTUT FT &1 F9% FIT 3 oH B &1

Section-C consist of Question Nos. 23 to 29 Short Answer Type Questions.

Each question carries 3 marks.
(vi) GUe-3 § 797 T&gr 30 W 31 Y FTNT J97 81 JAF FIT 5 H T 81

Section-D consist of Question Nos. 30 & 31 Long Answer Type Questions.

Each question carries 5 marks.

(vii) T8 Fo7 F STaR% 797 FaIT [ T &1 8F 59 § @ o9 #9q & & FIT FA
&/

Internal choice are given in some questions. You have to attempt only one

of the given choice in such questions.

2113/(Set : A) P.T.O.



(4) 2113/(Set : A)
gog - A

SECTION - A

(aEgFrs a%)

(Objective Type Questions)

=T SglamediT g9 % @8l [dwey g

Select the correct option of the following multiple choice questions :

1. 38R Q9 2 ¢ 1
(A) &

(B) Fhde
(C) WS

(D) Sefies

Indoor game is :

(A) Hockey
(B) Cricket
(C) Chess

(D) Badminton

2113/(Set : A)



(5) 2113/(Set : A)

2. fggelt & art it der fea el B 7 1
(A) 20 (B) 15
(C) 22 (D) 16

What is the number of teeth in infant ?
(A) 20 (B) 15

() 22 (D) 16

3. UEY H He<d e B BRI 8 ° 1
(&) #ETE
B) o & e

>

(C) =BT

(D) T |

Reason for increasing the importance of management :
(A) Costliness

(B) Increasing population

(C) Desires

(D) All of these

2113/(Set : A) P.T.O.



(6) 2113/(Set :

4. RH FH &H ..o F I HER H FHA o
(A) T (B) ek
(C) & (D) ¥ &l

By taking rest we can regain ............ .
(A) Time (B) Energy

(C) Money (D) All of these

5. e & § sfesra w78 ©
() T (B) &M

(C) & (D) =

Which in not a non-perishable from the following ?
(A) Pearl Millet (B) Sago

(C) Curd (D) Gram

6. A & g ¥ HH-A1 Gifted T 78 o 8 7
(A)  BieEm (B) el

(C) fqaim ‘@ (D) dreREm

2113/(Set : A)



(7) 2113/(Set : A)

Which nutrient is not found in mothers milk ?

(A) Calcium (B) Iron
(C) Vitamin A (D) Potassium
Rer &7 ¢

Fill in the blanks :

7. 999 3 918 °1 ® @Al @ N Gion et gifad B g, 39 ... Hed 1

Yellow liquid comes from mother's breast after delivery is called ............ .

............ mark is marked on wheat and pulses.
=T g9 & T QF-al A=l /AR 4 Ao

Answer the following questions in one-two words/sentences :

10. I # ST T TG H H JABY 9 SIS a9l B AR TEdT B 1

Name of fast stage of development when a child is growing to become an adult.

2113/(Set : A) P.T.O.



(8) 2113/(Set : A)
11. Hl g% 994G 98" & 9 SaRgl 1

Name any one human resource.
12. I8 Yikar PEd e @ & O-9esdl aUT S § aRad o S sl 1

The process due to that quality, nutritional value and nature of food products is
changed.

=it 797 (Fo @o 13 & 15) 7 i (A) 3T #XT (R) % &7 4 §-al %97 (9 7T &1
&l FEl B FFTgEE T2 ST 79 [T T FYFET [T F FITHE JT F TV ST -

The following questions (Q. No. 13 to 15) consist of two statements namely

Assertion (A) and Reason (R). Read both statements carefully and answer the

questions by selecting the appropriate option given below :

13. PN (A) : FB T WM & GUE 8 A ol 1
FROT (R) : TR G & B e H HROT T4 AR STy 2
w -
(A) Faq AHET (A) T B
(B) @®dad &R (R) Wl &l
(C) ARwET (A) R HRT (R) AMT T2 & X BRT (R), AR (A) BT Tl TEIHIT 2

(D) ST (A) X RO (R) QM1 T2 ¥, QAfh HROT (R), STHAM (A) 1 Tel TIEBT
T R

2113/(Set : A)



(9) 2113/(Set : A)

Assertion (A) : Some food products are perishable.

Reason (R) : Moisture and micro-organisms are main causes of spoiling food

products.
Options :
(A) Only Assertion (A) is correct.
(B) Only Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

14. SRR (A) : fhaiRaen § GéN & Tasashdl 96 Sk ol 1
HROT (R) : FpaiRaen & e X 999 orfde & B
w -
(A) TR (A) X HOT (R) a1 G&l 2|
(B) dad AREHET (A) HEl B
(C) ®ad HRT (R) Tel Bl
(D) SRR (A) 8T ®RYT (R) &M T &l

2113/(Set : A) P.T.O.



(10) 2113/(Set : A)

Assertion (A) : Requirement of protein is increased in Adolescent.

Reason (R) : Development rate is maximum in adolescent.
Options :

(A) Both Assertion (A) and Reason (R) are correct.

(B) Only Assertion (A) is correct.

(C) Only Reason (R) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect.

15. IREHYA (A) : 3P W% AMHIBT g TRl HE SO B JeM G S o 1
FHROT (R) : 3B Ah & b [og foaal ol
T -
(A)  AREET (A) R HROT (R) M T2 & T BROT (R) SIBAE (A) & T8 ARAT B
gl
(B) IR (A) X FROT (R) 2! T8l &, Fhg &RV (R) JAEH (A) H T8 @] el
HA B

(C) IR (A) @I 8, Ry T (R) T o

(D) SIRFREE (A) TG &, g HROT (R) &I B

2113/(Set : A)



(11) 2113/(Set : A)
Assertion (A) : Standardization mark — Eco mark is provided to eco-friendly

products.
Reason (R) : Eco mark is identified by a butterfly symbol.
Options :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

gug -9
SECTION - B

(arforrg ST Te)

(Very Short Answer Type Questions)

16. TTAHE @F Sl TRATNT B 2

Define constructive play.
HAYAT

OR
O T FF H I W HI

Explain the difference between play and work.

2113/(Set : A) P.T.O.



(12) 2113/(Set : A)
17. P.F. A. % QU 7 farau 2

Write full form of P. F. A.

18. 999 Y§gH W e fRau) 2

Write note on time management.

19. S 9 | URAR & &1 A 9 8ld § 2
What are the advantages of making budget for a family ?
AYAT

OR

gre verd R @ sEmEn S R, e

Write four items used for making starch.

20. FE AR T BRI JAT AT TARY 2

What is the cause of dropsy disease, also mention its symptoms ?

21. T &dE 7 8 ? 2

What is potassium permanganate ?

2113/(Set : A)



(13) 2113/(Set : A)

SAYdT
OR
Jad I ) e fafag
Write note on Javelle Water.
22. TS ge8l & FIY IAEL Q| 2

Give four examples of mineral stains.

guE - g
SECTION - C
(g ST %)

(Short Answer Type Questions)

23. TR SMER AR & &9 67 Sl B & @1 e ey ? 3

What are the various points that should be kept in mind while preparing a

balanced diet ?

2113/(Set : A) P.T.O.



(14) 2113/(Set : A)
gar

OR

a1 & I B gy R, Ry g A & & e a2, 3 7

Feeding mother's milk to a baby is beneficial for both mother and her baby,

explain how ?

24. I B HI-HH-9 AYBR 99§ ? GRES B 3

List down various rights of a consumer.

25. T% B q9d H F1-F1 JHHR Ml Aty ? 3

What informations should be available in a good label ?

26. T BIM @l @ fafEr HA-d g ? 3

List down various methods of removing stains.

27. FRREen § 8N Al e Sl -9 8 0 da F ave & | 3

What are the main problems faced during adolescence ? Explain in brief.

2113/(Set : A)



(15) 2113/(Set : A)

OR
Foll e P TS B I BRD B A TR

Name various factors affecting energy management.

28. FHF TIAHT & R & IR ¥ 989 § Sqeu) 3

Briefly explain principles of work simplification.

29. URAR® A & oW & qEe Izl 3

Tell the sources to increase family income.

STeE

OR

qRaRe T fhae TR & &1l &, 9 &

Explain the types of family income.

s - §
SECTION - D
(S I us)

(Long Answer Type Questions)

30. R HASH & THIAd HA did HH H TR ao & 5

Explain factors effecting meal planning in detail.

2113/(Set : A) P.T.O.



(16) 2113/(Set : A)

YA Hl THERT IX RIS S|

Throw light on the problems faced by a consumer.

31. I FEEd & Tq@ qeAl | fewei 1) 5
Comment on Consumer Aids.
YT
OR

qedl % T T IThl IARA & AHG /a9 Fadl & ar 7 Redryds e #)

Explain types of stains and important rules of removing stains in detail.

2113/(Set : A)



CLASS : 10th (Secondary) Code No. 2113
Series : Sec/Annual Exam.-2025

Roll No. SET : B
Te fae=

HOME SCIENCE
(Academic/Open)
[ = T il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 21 g2 ] [ §7% : 60

Time allowed : 2% hours | [ Maximum Marks : 60

o Y T F A [ 59 FoT-7H § FRT §7 16 7o 497 31 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 31 questions.

o Jo7-7H ¥ e & @ G T T FS TH Fol f H OH FI-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y FIT P TV VG @ FWT G Yee, FIT F HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.
o G-kl % & @] /971 7 8I8)

Don’t leave blank page/pages in your answer-book.

2113/(Set : B) P.T.O.



(2) 2113/(Set : B)
o FTT-GRam & FRFT FF T A T& A g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-TH qT Haed [i@ Wl To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @GRl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % IUT 37 @ {4 & GEAlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g 4 qrar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 73
General Instructions :
(i) 3 F97-97 & 7 31 797 & [o7= ¢ @] - O, ‘T, G T T ey 78
This question-paper consist of 31 questions, which are divided into four

Sections : 'A’, 'B', 'C' & 'D'".

2113/(Set : B)



(3) 2113/(Set : B)
() @ 9T Sar &

All questions are compulsory.
(iii) @UE-9 ¥ Fo7 @& 1 @ 15 % JGITo F97 &1 [RAMFAN 57 Jo7 % FaT o
J% 797 1 9% @ 81

Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer

these questions as per instructions. Each question carries 1 mark.
(iv) @U&-§ 7 797 &9 16 & 22 7% Sy FaNT 597 81 Jedew 997 2 SHl % 8l

Section-B consist of Question Nos. 16 to 22 Very Short Answer Type

Questions. Each question carries 2 marks.

(v) GUB-T T Jo7 G 23 T 29 TF T FTUT FT &1 F9% FIT 3 oH B &1

Section-C consist of Question Nos. 23 to 29 Short Answer Type Questions.

Each question carries 3 marks.
(vi) GUe-3 § 797 T&gr 30 W 31 Y FTNT J97 81 JAF FIT 5 H T 81

Section-D consist of Question Nos. 30 & 31 Long Answer Type Questions.

Each question carries 5 marks.

(vii) T8 Fo7 F STaR% 797 FaIT [ T &1 8F 59 § @ o9 #9q & & FIT FA
&/

Internal choice are given in some questions. You have to attempt only one

of the given choice in such questions.

2113/(Set : B) P.T.O.



(4) 2113/(Set : B)
gus - 3

SECTION - A

(aEgFrs a%)

(Objective Type Questions)

=T SglamediT g9 % @8l [dwey g

Select the correct option of the following multiple choice questions :

1. T% G S ® ¢ 1
(A) &l
(B) Fhde

(C) Ssfifes
(D) SRS

Is an Intellectual game :
(A) Hockey
(B) Cricket

(C) Badminton

(D) Chess

2. fefafag § q sty =@ 78 2 - 1
(A) eI (B) @&
(C) & (D) =

2113/(Set : B)



(5) 2113/(Set : B)

Which in not a non-perishable from the following ?

(A) Pearl Millet (B) Sago
(C) Curd (D) Gram

3. A & gg § HN-A1 Gifte® I 787 okl § 7 1
(A)  Hicer (B)
(C) faef @ (D) Wefmw

Which nutrient is not found in mothers milk ?

(A) Calcium (B) Iron
(C) Vitamin A (D) Potassium
4. frgett & afar &t e e e B ? 1
(A) 20 B) 15
(C) 22 (D) 16

What is the number of teeth in infant ?
(A) 20 B) 15

(C) 22 (D) 16

2113/(Set : B) P.T.O.



(6) 2113/(Set : B)
5. UM P Hew™ 9¢7 B BN € ° 1

(A) TETE

(B) &l g5 SEEA

>

(C) =BT
(D) ¥ &l
Reason for increasing the importance of management :

(A) Costliness

(B) Increasing population

(C) Desires

(D) All of these

6. ARH FH & ............ H I HER H FHA o 1
(A) w7 (B) «fed
(C) &= (D) ¥ |

By taking rest we can regain ............ .
(A) Time (B) Energy
(C) Money (D) All of these

2113/(Set : B)



(7) 2113/(Set : B)

Ra7 &7 97 -

Fill in the blanks :

8.

T9d B 96 91 B & @ S Gon gerd Jifed e B, S9 el Hed 2 1

Yellow liquid comes from mother's breast after delivery is called ............ .

World Consumer Day is celebrated on ............ .

[T 7971 % 3T Q-a =l /a4 A6

Answer the following questions in one-two words/sentences :

11.

10. & Uikar PEd @ @Y & o9l qUT S § aRadH o ST sl 1
The process due to that quality, nutritional value and nature of food products is
changed.

A, A9, 3 AR W F T B9 g9 ©§ 7 1
What stains are blood, eggs, milk and curd ?
fepre @ 39 i STae H M TAEY S daE JaEhal Bl AR Tl ol 1

12.

Name of fast stage of development when a child is growing to become an adult.

2113/(Set : B) P.T.O.



(8) 2113/(Set : B)
[T get (o @o 13 & 15) & e (A) ST @R (R) % @Y & &kat 397 7 7T &
&l FETl F AITgEE 98 ST 79 [T T FYGET [AHT B FITHE T B TV ST -

The following questions (Q. No. 13 to 15) consist of two statements namely
Assertion (A) and Reason (R). Read both statements carefully and answer the

questions by selecting the appropriate option given below :

13. SIEHEA (A) : IH A AFHIHT egd TGRS W3l SR &l S8 6T ST o 1

FROT (R) : 351 AT & SKABOTH (a8 foaatl 2

T -

(A) AREET (A) AR BROT (R) M T & T BROT (R) SIHBAT (A) B GE ARAT Bl
2

(B) &I (A) &R RO (R) aFI F&I &, fheg &1 (R) ARTRYA (A) & Tl e T8

T B

(C) oREE (A) @& 8, fhg &R (R) T &

(D) SIREFEE (A) T0C &, g HROT (R) &I B

2113/(Set : B)



(9) 2113/(Set : B)
Assertion (A) : Standardization mark — Eco mark is provided to eco-friendly

products.
Reason (R) : Eco mark is identified by a butterfly symbol.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

14. IAHE (A) : FB G WM S WU 8 A Bl 1
PR (R) : TEI G & G 8 H HROT T4 AR A1 2
T
(A) Haw AR (A) T B
(B) a9 &R (R) Tl Bl
(C) &Af¥eRe (A) 3 HROT (R) &AM Wl & M BRI (R), AR (A) H FEl TR B
(D) SIRMwEE (A) X BRI (R) AMT T2 &, AP BROT (R), ATNHT (A) FT & BT

& Bl

2113/(Set : B) P.T.O.



(10) 2113/(Set : B)

Assertion (A) : Some food products are perishable.

Reason (R) : Moisture and micro-organisms are main causes of spoiling food

products.
Options :
(A) Only Assertion (A) is correct.
(B) Only Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

15. RERE (A) : fhaimaen § MW # Sasasdl 96 9K 8| 1
HROT (R) : FpeiRaen & e X 999 orfde & B
T -
(A) SRR (A) X &1 (R) a1 98l 2
(B) @aw AREREH (A) T B
(C) Had HNRT (R) T 2
(D) TN (A) 3 BRI (R) M1 T &l

2113/(Set : B)



(11) 2113/(Set : B)

Assertion (A) : Requirement of protein is increased in Adolescent.

Reason (R) : Development rate is maximum in adolescent.
Options :

(A) Both Assertion (A) and Reason (R) are correct.

(B) Only Assertion (A) is correct.

(C) Only Reason (R) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect.

gug -9
SECTION - B

(arforrg ST Te)

(Very Short Answer Type Questions)
16. Sl §ARI &1 HROT FAT F&IOT SAY 2
What is the cause of dropsy disease, also mention its symptoms ?
17. &9 @6 718 7 2
What is potassium permanganate ?

2113/(Set : B) P.T.O.



(12) 2113/(Set : B)

SAYdT
OR
Jad I ) e fafag
Write note on Javelle Water.
18. TN F&8f & Y IIEL QT 2

Give four examples of mineral stains.

19. EEIHS ©F Rl IRHATNT HI 2

Define constructive play.

3TeE

OR
O q o W H

Explain the difference between play and work.

20. P.F. A & Y M fafag 2

Write full form of P. F. A.

21. 999 Y& X e foRau 2

Write note on time management.

2113/(Set : B)



(13) 2113/(Set : B)
22. o[ S9N 9 URaX & F A I 8§ ° 2

What are the advantages of making budget for a family ?
AYAT

OR

grT Terd R = s=mEn A R, e

Write four items used for making starch.
gls - 9
SECTION-C
(g Sl o)
(Short Answer Type Questions)

23. fHeiRERar & 89 Al @ eHE SH-9 § P 989 § aui &Y | 3

What are the main problems faced during adolescence ? Explain in brief.

YT
OR
Foll YEEE B TATAT B gt BReh B A TR

Name various factors affecting energy management.

24, FHY A $ S b ) § G849 7 Sqey 3

Briefly explain principles of work simplification.

2113/(Set : B) P.T.O.



(14) 2113/(Set : B)
25. URAR® ™ & oM & qEe Jazd| 3

Tell the sources to increase family income.

3TeE

OR

qReIRe ™ fhas TR # Bl &, a0 B

Explain the types of family income.

26. HRM BN AR HA TG 67 Il B & @l e ey ? 3

What are the various points that should be kept in mind while preparing a

balanced diet ?

YqT

OR

w1 g A gy R, Ry qen A A S e a2, S

Feeding mother's milk to a baby is beneficial for both mother and her baby,

explain how ?

2113/(Set : B)



(15) 2113/(Set : B)
27. I B HIA-HH-9 AYBR 99§ ? GREs B 3

List down various rights of a consumer.

28. TH B qad H F-FT AR Nl aey ? 3

What informations should be available in a good label ?

29. 9= g &I @ fafEl SH- § ? 3

List down various methods of removing stains.

que - §
SECTION-D

(S I us)

(Long Answer Type Questions)

30. U H TIRRT ) JH S| 5

Throw light on the problems faced by a consumer.

YqT
OR

HER ARSI GAIET HA il BRI H GEINGESD do B

Explain factors effecting meal planning in detail.

2113/(Set : B) P.T.O.



(16) 2113/(Set : B)
31. oIl % UHR U1 IThl AN & A/ @ B & qR) H foeiRyds e 5

Explain types of stains and important rules of removing stains in detail.

3TeE
OR

SUHIR Feddl & TgE eEl [ fewel

Comment on Consumer Aids.

2113/(Set : B)



CLASS : 10th (Secondary) Code No. 2113
Series : Sec/Annual Exam.-2025

Roll No. SET : C
Te fae=

HOME SCIENCE
(Academic/Open)
[ = T il A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

&7 : 21 g2 ] [ g% : 60

Time allowed : 2% hours | [ Maximum Marks : 60

o FUT FT BT FF 57 F9T-79 § GRT 7 16 79 797 31 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 31 questions.

o Jo7-7H ¥ e & @ G T T FS TH Fol f H OH FI-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y FIT P TV VG @ FWT G Yee, FIT F HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.
o G-kl % & @] /971 7 8I8)

Don’t leave blank page/pages in your answer-book.

2113/(Set : C) P.T.O.



(2) 2113/(Set : C)
o FTT-GRam & FRFT FF T A T& A g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-TH qT Haed [i@ Wl To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @GRl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % IUT 37 @ {4 & GEAlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g 4 qrar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 73
General Instructions :
(i) 3 F97-97 & 7 31 797 & [o7= ¢ @] - O, ‘T, G T T ey 78
This question-paper consist of 31 questions, which are divided into four

Sections : 'A’, 'B', 'C' & 'D'".

2113/(Set : C)



(3) 2113/(Set : C)
() @ 9T Sar &

All questions are compulsory.
(iii) @UE-9 ¥ Fo7 @& 1 @ 15 % JGITo F97 &1 [RAMFAN 57 Jo7 % FaT o
J% 797 1 9% @ 81

Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer

these questions as per instructions. Each question carries 1 mark.
(iv) @U&-§ 7 797 &9 16 & 22 7% Sy FaNT 597 81 Jedew 997 2 SHl % 8l

Section-B consist of Question Nos. 16 to 22 Very Short Answer Type

Questions. Each question carries 2 marks.

(v) GUB-T T Jo7 G 23 T 29 TF T FTUT FT &1 F9% FIT 3 oH B &1

Section-C consist of Question Nos. 23 to 29 Short Answer Type Questions.

Each question carries 3 marks.
(vi) GUe-3 § 797 T&gr 30 W 31 Y FTNT J97 81 JAF FIT 5 H T 81

Section-D consist of Question Nos. 30 & 31 Long Answer Type Questions.

Each question carries 5 marks.

(vii) T8 Fo7 F STaR% 797 FaIT [ T &1 8F 59 § @ o9 #9q & & FIT FA
&/

Internal choice are given in some questions. You have to attempt only one

of the given choice in such questions.

2113/(Set : C) P.T.O.



(4)
gUg - &

SECTION - A

(aEgFrs a%)

(Objective Type Questions)

=i qglamehid Fo % el A% g -

Select the correct option of the following multiple choice questions :

1. frgeft & <t @ e e 8 ? ?

(A) 20 (B) 15

(C) 22 (D) 16

What is the number of teeth in infant ?
(A) 20 B) 15

(C) 22 (D) 16

. U§EF & Hew g6 & BRI § ¢
(A) "ETE

(B) &l g3 STEEA

(C) T
(D) T |l

2113/(Set : C)

2113/(Set : C)
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Reason for increasing the importance of management :
(A) Costliness

(B) Increasing population

(C) Desires

(D) All of these

3. IRH HH BT ..oovveen H gA: WX B T ol 1
(A) w5 (B) SIferT
(C) & (D) I &l

By taking rest we can regain ............ .

(A) Time (B) Energy
(C) Money (D) All of these
4. W 3 gg 7 P-81 Nk T 787 A ® ? 1
(A)  PRar (B) el
(C) faefm ¢ (D) WeRwm

2113/(Set : C) P.T.O.



(6) 2113/(Set :

Which nutrient is not found in mothers milk ?
(A) Calcium (B) Iron

(C) Vitamin A (D) Potassium

5. 7= & § f9erig @ o ®

(A) T (B) W
(C) wHE D) T

Perishable food product from the following is :
(A) Pearl Millet (B) Sago
(C) Butter (D) Wheat

6. R OT B :
(A) el
(B) e
(C) RS

(D) Sefies

2113/(Set : C)
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Indoor game is :

(A) Hockey

(B) Cricket

(C) Chess

(D) Badminton
R &7 %

Fill in the blanks :

7. 999 3 98 °1 ® @Al @ N Gion et gifad B g, 39 ... Hed 1

Yellow liquid comes from mother's breast after delivery is called ............ .

............ mark is marked on electric wires and pressure cooker.
[F=TiAET g7 % Y Qa1 =]/ 4 @

Answer the following questions in one-two words/sentences :

10. O™ # ST T TG H H JABY 9 SIS 9@l B AR TEdT B 1

Name of fast stage of development when a child is growing to become an adult.

2113/(Set : C) P.T.O.



(8) 2113/(Set : C)
11. Hl g% 994G 98" & 9 SaRgl 1

Name any one human resource.
12. I8 Yikar PEd e @ & O-9esdl aUT S § aRad o S sl 1

The process due to that quality, nutritional value and nature of food products is
changed.

=it 797 (Fo @o 13 & 15) 7 i (A) 3T #XT (R) % &7 4 §-al %97 (9 7T &1
&l &l B FFTgEE T2 ST 79 [T T FYFHT [T F FITHE JT F TV G -

The following questions (Q. No. 13 to 15) consist of two statements namely

Assertion (A) and Reason (R). Read both statements carefully and answer the

questions by selecting the appropriate option given below :

13. PN (A) : FB T WM & GUE 8 A ol 1
FROT (R) : TR G & B e H HROT T4 AR STy 2
w -
(A) Faq AHET (A) T B
(B) @®dad &R (R) Wl &l
(C) ARwET (A) R HRT (R) AMT T2 & X BRT (R), AR (A) BT Tl TEIHIT 2

(D) ST (A) X RO (R) QM1 T2 ¥, QAfh HROT (R), STHAM (A) 1 Tel TIEBT
T R

2113/(Set : C)
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Assertion (A) : Some food products are perishable.

Reason (R) : Moisture and micro-organisms are main causes of spoiling food

products.
Options :
(A) Only Assertion (A) is correct.
(B) Only Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

14. SRR (A) : fhaiRaen § GéN & Tasashdl 96 Sk ol 1
HROT (R) : FpaiRaen & e X 999 orfde & B
w -
(A) TR (A) X HOT (R) a1 G&l 2|
(B) dad AREHET (A) HEl B
(C) ®ad HRT (R) Tel Bl
(D) SRR (A) 8T ®RYT (R) &M T &l

2113/(Set : C) P.T.O.
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Assertion (A) : Requirement of protein is increased in Adolescent.

Reason (R) : Development rate is maximum in adolescent.
Options :

(A) Both Assertion (A) and Reason (R) are correct.

(B) Only Assertion (A) is correct.

(C) Only Reason (R) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect.

15. REHYA (A) : 3P W% AMHBT g TRl HE SO B JeM R S o 1
FHROT (R) : 3B Ah & b [og foaal ol
T -
(A)  AREET (A) R HROT (R) M T2 & T BROT (R) SIBAE (A) & T8 ARAT B
gl
(B) IR (A) X FROT (R) 2! T8l &, Fhg &RV (R) IATEH (A) H T8 AT el
HA B

(C) IR (A) @I 8, Ry T (R) T o

(D) SIRFREE (A) TG &, g HROT (R) &I B

2113/(Set : C)
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Assertion (A) : Standardization mark — Eco mark is provided to eco-friendly

products.
Reason (R) : Eco mark is identified by a butterfly symbol.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

gug -9
SECTION - B

(arforrg ST Te)

(Very Short Answer Type Questions)

16. G+ 9s3f & 7 a0 S| 2

Give four examples of mineral stains.

17. AHS @F Sl ARG B 2

Define constructive play.

2113/(Set : C) P.T.O.
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e
OR

O qAT FE H I W HI

Explain the difference between play and work.

18. P.F. A. % QU M farau 2

Write full form of P. F. A.

19. 999 Y§gH T e foRau 2

Write note on time management.

20. ¢ I & IRAR H F1 A9 A B § 7 2
What are the advantages of making budget for a family ?
AYAT

OR

gre yerd R " sEmEn S R, e

Write four items used for making starch.

2113/(Set : C)
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21. FE AR B BRI JAT AT TARY 2

What is the cause of dropsy disease, also mention its symptoms ?

22. T &aE 97 8 7 2

What is potassium permanganate ?

YT
OR
Jad I ) e fafag
Write note on Javelle Water.
s - 9
SECTION-C
(g ST %)

(Short Answer Type Questions)

23. JRAR® A & 6N & qEe Izl 3

Tell the sources to increase family income.

2113/(Set : C) P.T.O.



(14) 2113/(Set : C)

OR
qReIRe ™ fhae TR # Bl 8, U B

Explain the types of family income.

24. TR MER AR HJ &9 67 Sl B &M @1 I ey ? 3

What are the various points that should be kept in mind while preparing a

balanced diet ?

YqT
OR

15 02 I e T G | A o e G B S L G B R o

Feeding mother's milk to a baby is beneficial for both mother and her baby,

explain how ?

25. I H HIF-HH-9 AYBR 99 & ? GRES B 3

List down various rights of a consumer.

2113/(Set : C)



26.

27.

28.

29.

(15) 2113/(Set : C)

TH O A9 H F-F THBR Bl Aty ?

What informations should be available in a good label ?

g g3 & TYQ fafter s ¥ 7

List down various methods of removing stains.

frsiraee & 2 arel TE que -6 8 P 9ed & o e |

What are the main problems faced during adolescence ? Explain in brief.

3TeE
OR

ol &g B TAMAT H a1 BRD b A TR

Name various factors affecting energy management.

HY AT B S b IR H G989 § Saey)

Briefly explain principles of work simplification.

2113/(Set : C)
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(16) 2113/(Set
gos - §
SECTION - D
(S I us)

(Long Answer Type Questions)

30. SR JAENH & THIfT FA a1 HH H FERYGAS a0 HT|

Explain factors effecting meal planning in detail.

ST
OR
SUHIET B THERA T TS S|

Throw light on the problems faced by a consumer.

31. IUHAH FEEdl & Tq@ qeq W feweh 1)

Comment on Consumer Aids.

YqT
OR

qedl % T T IThl JARA & WG/ Es Fadl & ar 7 Redryds awer &)

Explain types of stains and important rules of removing stains in detail.

2113/(Set : C)
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o FUT FT BT FF 57 F9T-79 § GRT 7 16 79 797 31 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 31 questions.

o Jo7-7H ¥ e & @ G T T FS TH Fol f H OH FI-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y FIT P TV VG @ FWT G Yee, FIT F HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.
o G-kl % & @] /971 7 8I8)

Don’t leave blank page/pages in your answer-book.

2113/(Set : D) P.T.O.



(2) 2113/(Set : D)
o FTT-GRam & FRFT FF T A T& A g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-TH qT Haed [i@ Wl To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @GRl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % IUT 37 @ {4 & GEAlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g 4 qrar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 73
General Instructions :
(i) 3 F97-97 & 7 31 797 & [o7= ¢ @] - O, ‘T, G T T ey 78
This question-paper consist of 31 questions, which are divided into four

Sections : 'A’, 'B', 'C' & 'D'".

2113/(Set : D)



(3) 2113/(Set : D)
() @ 9T Sar &

All questions are compulsory.
(iii) @UE-9 ¥ Fo7 @& 1 @ 15 % JGITo F97 &1 [RAMFAN 57 Jo7 % FaT o
J% 797 1 9% @ 81

Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer

these questions as per instructions. Each question carries 1 mark.
(iv) @U&-§ 7 797 &9 16 & 22 7% Sy FaNT 597 81 Jedew 997 2 SHl % 8l

Section-B consist of Question Nos. 16 to 22 Very Short Answer Type

Questions. Each question carries 2 marks.

(v) GUB-T T Jo7 G 23 T 29 TF T FTUT FT &1 F9% FIT 3 oH B &1

Section-C consist of Question Nos. 23 to 29 Short Answer Type Questions.

Each question carries 3 marks.
(vi) GUe-3 § 797 T&gr 30 W 31 Y FTNT J97 81 JAF FIT 5 H T 81

Section-D consist of Question Nos. 30 & 31 Long Answer Type Questions.

Each question carries 5 marks.

(vii) T8 Fo7 F STaR% 797 FaIT [ T &1 8F 59 § @ o9 #9q & & FIT FA
&/

Internal choice are given in some questions. You have to attempt only one

of the given choice in such questions.

2113/(Set : D) P.T.O.



(4) 2113/(Set :

que - A
SECTION - A

(aEgFrs a%)

(Objective Type Questions)
=i qglamehid Fo % el A% g -

Select the correct option of the following multiple choice questions :

1. fafafed & @ stfaeta = 78 ® ¢
(A) TR (B) W

(C) =@ (D) =

Which in not a non-perishable from the following ?
(A) Pearl Millet (B) Sago

(C) Curd (D) Gram

2. A & g ¥ HH-A7 Gfted T 7 o 8 7
(A)  BieEm (B) el

(C) fqaim ‘@ (D) GefrEH

2113/(Set : D)

D)



(5) 2113/(Set : D)

Which nutrient is not found in mothers milk ?

(A) Calcium (B) Iron
(C) Vitamin A (D) Potassium

3. TR EA & : 1
(A) e (B) frdbe
(C) S (D) sfies

Indoor game is :

(A) Hockey (B) Cricket
(C) Chess (D) Badminton
4. FHE TIBOT R 89 F1 9 & 7 1
(A) G99 (B) qife
(C) T9F AR vfF QA1 (D) €=
What do we save by simplification of work ?
(A) Time (B) Energy
(C) Both Time and Energy (D) Money

2113/(Set : D) P.T.O.



(6) 2113/(Set : D)

5. fgell & 3t it der fea e B 7 1
(A) 20 (B) 15
(C) 22 (D) 16

What is the number of teeth in infant ?
(A) 20 (B) 15

() 22 (D) 16

6. USUT H He< e B BRI 8 ° 1
(&) #ETE
B) o & e

>

(C) F=W|M

(D) I gl

Reason for increasing the importance of management :
(A) Costliness

(B) Increasing population

(C) Desires

(D) All of these

2113/(Set : D)



(7) 2113/(Set : D)
R &7 &% -

Fill in the blanks :

8. fasa Sy Raq ... & BEET ST B 1

World Consumer Day is celebrated on ............ .

9. WHE % I A & w4 S da GE @A A B, I o Fed &l 1

Yellow liquid comes from mother's breast after delivery is called ............ .

[T 7971 % 3T Q-a =l /a4 A6

Answer the following questions in one-two words/sentences :

10. fhdl g% AMdE G &1 9 9dsy) 1

Name any one human resource.

11. {9 # ST N TG H AH IABY 9 Scih dIEhdl Bl A T3l B 1

Name of fast stage of development when a child is growing to become an adult.

12. Ypicrh i 1 A SdEl 1

Name a natural bleach.

2113/(Set : D) P.T.O.



(8) 2113/(Set : D)
[T get (o @o 13 & 15) & e (A) ST @R (R) % @Y & &kat 397 7 7T &
§l el # FEgaE TB G A9 [T T UG [AHT FH THTHC 497 % TV Ao -

The following questions (Q. No. 13 to 15) consist of two statements namely
Assertion (A) and Reason (R). Read both statements carefully and answer the

questions by selecting the appropriate option given below :

13. ARFE (A) : fhaNTEen § MW @ STaRdl 98 S 2 1
HROT (R) : FpeiRmaen & e X 999 orfde & B

& -

(A) SRR (A) X &1 (R) a1 98l 2|
(B) ®ad SN (A) Tl B
(C) ®ad BRI (R) T&l 2

(D) SRR (A) 8NX ®RYT (R) aH1 T &l

2113/(Set : D)



(9) 2113/(Set : D)

Assertion (A) : Requirement of protein is increased in Adolescent.
Reason (R) : Development rate is maximum in adolescent.
Options :

(A) Both Assertion (A) and Reason (R) are correct.

(B) Only Assertion (A) is correct.

(C) Only Reason (R) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect.

14. STEHEA (A) : 3B A AFHHT (o8 TGRS Wl SR &l S8 6T ST o 1
FHROT (R) : 3BT Ah & B (o8 foaal ol
T
(A) STETT (A) X BRI (R) I T&l & T FROT (R) THAT (A) &l Tl A Fal
Bl
(B) SIRMEREA (A) X HROT (R) a1 €&l &, g ®ROT (R) SIfBe (A) % §e1 @ren Tel
FHAT 2

(C) oImREE (A) @& 8, fhg &R (R) T &

(D) SR (A) TAA 8, g BT (R) Tl 2

2113/(Set : D) P.T.O.



(10) 2113/(Set : D)
Assertion (A) : Standardization mark — Eco mark is provided to eco-friendly

products.
Reason (R) : Eco mark is identified by a butterfly symbol.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

15. I (A) : FB O W e GE 8 A ol 1
FROT (R) : T G & B e H HROT T4 AR STy 2
w -
(A) Faq AHET (A) T B
(B) @®dad &R (R) Wl &l
(C) I¥PH (A) T BRI (R) IFT Tl & X BRI (R), ARNBAT (A) B Tel TRIHT &
(D) ¥ (A) AR FRI (R) &AAT &I &, A BT (R), AR (A) H HE TR

& B

2113/(Set : D)



(11) 2113/(Set : D)

Assertion (A) : Some food products are perishable.

Reason (R) : Moisture and micro-organisms are main causes of spoiling food
products.

Options :

(A) Only Assertion (A) is correct.

(B) Only Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).

gug -9
SECTION - B

(arforrg ST Te)

(Very Short Answer Type Questions)

16. 999 Y X e foRgu 2

Write note on time management.

17. S 99 € URGRX & F1 o I 8 8§ ° 2

What are the advantages of making budget for a family ?

2113/(Set : D) P.T.O.



(12) 2113/(Set : D)
gar

OR
gre verd R " sEmEn S g, e

Write four items used for making starch.

18. Sl SR P HIT qAT AT JAqRY 2

What is the cause of dropsy disease, also mention its symptoms ?

19. & SO FME 7 2

What is potassium permanganate ?

YT
OR
Jad gl I e R
Write note on Javelle Water.
20. TS TSl & FIY IIEL QT 2

Give four examples of mineral stains.

2113/(Set : D)
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21. TS Gd Hl qRANT B 2

Define constructive play.
YqT

OR

O AT FE H I W HI

Explain the difference between play and work.

22. P.F. A & QU M i 2

Write full form of P. F. A.

guE - g
SECTION - C
(g ST %)

(Short Answer Type Questions)

23. TF B q9d § F-HT IFHRI el afey ? 3

What informations should be available in a good label ?

2113/(Set : D) P.T.O.



(14) 2113/(Set : D)
24. ¥ BM @l ygE fafr dA-d g ? 3

List down various methods of removing stains.

25. fRaREen § 8N Al TE Sl -9 8 0 da § ave & | 3
What are the main problems faced during adolescence ? Explain in brief.
HAYAT

OR
Foll YEEE B TATAT B gt BReh B A TR

Name various factors affecting energy management.

26. HF TIAHO & TG & IR § G989 § SqEu 3

Briefly explain principles of work simplification.

27. URAR® A & qeN & qEe Jaed| 3

Tell the sources to increase family income.

STeE

OR

qiRaIRe ™ fhae TR # Bl 8, O B

Explain the types of family income.

2113/(Set : D)
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28. HId AER TR Hd T 6 a1l & & @1 ST =ifey ? 3

What are the various points that should be kept in mind while preparing a

balanced diet ?

YqT

OR

o1 & g B gg far, Ry dor A9 & & e a8, 3

Feeding mother's milk to a baby is beneficial for both mother and her baby,

explain how ?

29. I H HIF-HH-9 AYBR 99 & ? GEES B 3
List down various rights of a consumer.
gug - §
SECTION-D

(S I us)

(Long Answer Type Questions)

30. U H TIRRT ) Y6 S| 5

Throw light on the problems faced by a consumer.

2113/(Set : D) P.T.O.



(16) 2113/(Set :

SRR HARISH H GAT HH d B F EIRYES a0 B

Explain factors effecting meal planning in detail.

31. =l & YR T Il IARA & A/ AEEH g & R | [qERgEs e 1

Explain types of stains and important rules of removing stains in detail.

3TeE
OR

SIS Feddl & TgE EEl ) fewel |

Comment on Consumer Aids.

2113/(Set : D)
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